This report contains the transfers results.

4,365

1,092

Contest Name

Ward 1 - Lomond

Valid Votes

Positions to be Filled

Quota

## Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Jonathan MCCOLL	Scottish National Party (SNP)	•	1,082
Sally PAGE	Scottish Conservative and Unionist		939
Chris POLLOCK	Scottish National Party (SNP)		458
George RICE	Independent		218
Louise ROBERTSON	West Dunbartonshire Community Party		246
Martin ROONEY	Scottish Labour Party		945
Hazel SORRELL	Scottish Labour Party		477
		Total	4 365

Total 4,365

This report contains the transfers results.

Stage 2 - Exclusion of George RICE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jonathan MCCOLL	27	1.00000	27.00000
Transfer to Sally PAGE	29	1.00000	29.00000
Transfer to Chris POLLOCK	23	1.00000	23.00000
Transfer to Louise ROBERTSON	54	1.00000	54.00000
Transfer to Martin ROONEY	32	1.00000	32.00000
Transfer to Hazel SORRELL	21	1.00000	21.00000
Value of non-transferable ballot papers			32.00000
	Total		218.00000

This report contains the transfers results.

Stage 3 - Surplus of Jonathan MCCOLL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jonathan MCCOLL	0	0.00000	0.00000
Transfer to Sally PAGE	22	0.01532	0.33704
Transfer to Chris POLLOCK	962	0.01532	14.73784
Transfer to George RICE	0	0.00000	0.00000
Transfer to Louise ROBERTSON	39	0.01532	0.59748
Transfer to Martin ROONEY	29	0.01532	0.44428
Transfer to Hazel SORRELL	19	0.01532	0.29108
Value of non-transferable ballot papers			0.59228
	Total		17.00000

This report contains the transfers results.

Stage 4 - Exclusion of Louise ROBERTSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jonathan MCCOLL	0	0.00000	0.00000
Transfer to Sally PAGE	1	0.01532	0.01532
Transfer to Sally PAGE	21	1.00000	21.00000
Transfer to Chris POLLOCK	18	0.01532	0.27576
Transfer to Chris POLLOCK	108	1.00000	108.00000
Transfer to George RICE	0	0.00000	0.00000
Transfer to Martin ROONEY	6	0.01532	0.09192
Transfer to Martin ROONEY	47	1.00000	47.00000
Transfer to Hazel SORRELL	4	0.01532	0.06128
Transfer to Hazel SORRELL	44	1.00000	44.00000
Value of non-transferable ballot papers			80.15320
	Total		300.59748

This report contains the transfers results.

Stage 5 - Exclusion of Hazel SORRELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jonathan MCCOLL	0	0.00000	0.00000
Transfer to Sally PAGE	4	0.01532	0.06128
Transfer to Sally PAGE	48	1.00000	48.00000
Transfer to Chris POLLOCK	7	0.01532	0.10724
Transfer to Chris POLLOCK	35	1.00000	35.00000
Transfer to George RICE	0	0.00000	0.00000
Transfer to Louise ROBERTSON	0	0.00000	0.00000
Transfer to Martin ROONEY	4	0.01532	0.06128
Transfer to Martin ROONEY	362	1.00000	362.00000
Value of non-transferable ballot papers			97.12256
	Total		542.35236

This report contains the transfers results.

Stage 6 - Surplus of Martin ROONEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jonathan MCCOLL	0	0.00000	0.00000
Transfer to Sally PAGE	3	0.00325	0.00975
Transfer to Sally PAGE	294	0.21246	62.46324
Transfer to Chris POLLOCK	16	0.00325	0.05200
Transfer to Chris POLLOCK	168	0.21246	35.69328
Transfer to George RICE	0	0.00000	0.00000
Transfer to Louise ROBERTSON	0	0.00000	0.00000
Transfer to Martin ROONEY	0	0.00000	0.00000
Transfer to Hazel SORRELL	0	0.00000	0.00000
Value of non-transferable ballot papers			196.37921
	Total		294.59748